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TakpipbIObI: “BueT TeopemMach!’
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MaremaTrka moH1 MyFajiiMmi :
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“Buet Treopemacer’
TaKBIPbIOBIHA €CEITEP

[IbIFAPY
Makcathbl;
OKy1IbLIapAbIH Buer
T€OPEMAChIH ecenTeylepae

KOJIJaHa  Ouly  JaFapUIapbiH
HaAMBITY.




JKocmapsr:
1. ¥UBIMIACTBIPY KE3CH].
2. YU )KYMBICBIH TEKCEDY.
3. OT1AreH MaTepuaibl
KauTaiay.
4. Ceprity CoTl.
5. TonmeH XKyMpbic.
6. OKYJIBIKIICH KYMBIC.
FARMNETE

8. Pednekcus.



Y1 JKYMBICHI

Nol150
1. x2-10x+25 =0

%, + X, =10,x; =5,
X, *%, =25.10(x, =5,

L
o

{

KayaOsbr:
DL




{

% + 3%, = =6,

X'y, =0,

KayaOsr:

-3:- 3.

2P 46x49=0

Xl = —3,
Xz p— "'3.




TenaeynepaiH TyO1pIIepiH
TaOBIHAAP:
l-Tonka: x* + 20x +19 = 0O;
2-Tonka: x> +4x -5=0;
3-tonka: x>+ 9x - 22 =0;
4-tonika: x* + 2x +1 = 0.




OKYJIBIKIIEH KYMBIC

Nel55 (1)

1. x*-19x +18 = 0 TeHaeyiHIH
0ip TyOipi 1-re TeH 0oJ1CA,
OH/IA eKiHII TYOIpiH
Ta0OBIHAAP.



Tect

| - HyCKa
1.x>-5x+6=0 (I-
yI1ail)
P4 q=?
A) 5;6; B) -5;-6; C) -5;6;
D61 E).3;:6.
2. Tenneynix ki TyOipiH
TaObIHAAp. (3 yIaii)
x2-7x+12=0
A) 1; B)4; C)2; [I)6;
ElL3.
3. Terneynin yiakeH TyOipiH
TaObIHAAp. (3 yIaii)
x%-2x-3=0
A)FLTBY 81 10) ¥ T 53
E) -2.

2 - HYCKa
1.x2+x-12=0(1 -
yI1ail)
p=20q= 7
A) 1;12; B)-1;-12; C)
-1:12:
) -12; E)-12;1.
2. Tenaeynain ki TyOipiH
TaObIHaap. (3 yIiail)
x2-8x+15=0
A)3; B)4; C)-3; ) 5;
E) -5.
3. Tenneyaiy yakeH TYOIpiH
TaObIHAAp. (3 yIaii)
x*+ 11x-26=0
AN IB)13:0 E) 2. L) 113
E) -2.



JKayarrapsi:

1 — HyCKa 2 — HYCKa

1. A; (1-ymain) 1. B; (1-ymait)
2. E; (3-ymaii) 2. A; (3-ymait)
3. M. (3-ymaii) 3. C. (3-ymaii)



baranay kpuTepuil:
Liyman =127
3 yman — “37;
6 ynau — “4”;
7 ymam — 57




Y U )KYMBICHI:

Nel62 (1-4)




